Recommendation for Award of Contract

Project FM2920 Lif	t Station Consolidation	Phase 1 – 30" Sanitary Sewer		Project Number	
Owner City of Tom	ıball		2025-04		
fiberglass manholes v manhole near SH-249 Holderrieth Rd and Ca	vith watertight covers all and Holderrieth Rd. The alvert Rd ROW. The proj watering, hydro mulch s ved12-5-2024	eximately 7,080 linear feet of 30 long Holderrieth Rd and connect e proposed sewer line will extended all associate ect will also include all associate eeding, ditch re-grading, tree proposal Tabulation Atta	t to the existing stub nd to a proposed ma ed work but not limit rotection, pavement	n-out at the nhole west of the red to clearing and restoration, and	
	unt of Contract Award	\$ 5,384,286.50 Pi	roject Budget \$ 6,	300,000.00	
Proposed Project Cor	npletion Date	October 2025			
Contract Times meet	Owner's Schedule?	⊠ Yes □ No			
- Lowest Bid: \$ - Highest Bid: \$ - Average Bid: - Average Bid Bid: - Average Bid Bid: - Average Bid Bid: - Average Bid Bid: - Average Bid: -	5,384,286.50 \$13,648,653.00 \$7,026,233.53 Excluding Highest Bid: \$5 e bid tabulation and Pate kage was reviewed for co id track record of succes this project.	ect. Below is a list of statistics re 5,922,496.95 e Garver has been identified as to compliance according to the spec esfully completing similar project warding the contract for this pro-	the lowest responsive ifications and has be to and has the qualiform of the contract of the contract to Pate Garver.	e and responsible een approved. ications and Included with this	
Owner. A review of the provided indicates the Contract Documents acceptable. It is record	ne Recommended Contro at the Recommended Co and that Recommended	offer of the Recommended Con actor's Statement of Qualification ontractor meets the qualification Contractor's previous experience act be awarded to the Recommen	ns and a check of th requirements speci ce on similar projects	e references fied in the has been	
Title	Project Manager			12 3 2024	
Representing	Freese and Nichols, Inc	:			

APPARENT LOW BIDDERS

TMB22900 - FM2920 Lift Station Consolidation Phase 1 – 30" Sanitary Sewer

Bid Summary					
Engineers Estimate	\$ 6.3 Million				
Total Bids	7				
AMLT \$	\$114,295.50				
AMLT %	2.12%				
Average Bid	\$7,026,233.53				

	Bidder	BASE BID
1	Pate Garver, LP Submitted: 12/05/2024 1:25:53 PM	\$5,384,286.50
2	V&S Construction Submitted: 12/05/2024 1:39:03 PM	\$5,498,582.00
3	ISJ Underground Utilities Submitted: 12/05/2024 1:49:12 PM	\$5,594,945.70
4	MC2 Civil, LLC Submitted: 12/05/2024 1:49:17 PM	\$5,998,604.00
5	T Construction LLC Submitted: 12/05/2024 1:19:18 PM	\$6,238,171.00
6	Total Contracting Limited Submitted: 12/04/2024 5:20:19 PM	\$6,820,392.50
7	Harper Brothers Construction Submitted: 12/05/2024 1:45:12 PM	\$13,648,653.00

Bids opened at: 12/05/2024 2:00:38 PM

Tabulation of Offers Received

Project Owner Design Professional	ner City of Tomball						
Date 12-5-2024	Time	2:00 PM	Location _V	irtual Bid Opening			
Name of Offero	r	Addenda Received	Bid Bond Attached	Base Bid Total	Allowances Total	Extra Work Total	Total Offer Amount
Pate Garver, LP		⊠ Yes □ No	⊠ Yes □ No	\$5,244,286.50	\$100,000.00	\$40,000.00	\$5,384,286.50
V&S Construction	n	⊠ Yes □ No	⊠ Yes □ No	\$5,353,582.00	\$100,000.00	\$45,000.00	\$5,498,582.00
ISJ Underground Uti	lities	⊠ Yes □ No	⊠ Yes □ No	\$5,454,945.70	\$100,000.00	\$40,000.00	\$5,594,945.70
MC2 Civil, LLC		⊠ Yes □ No	⊠ Yes □ No	\$5,858,604.00	\$100,000.00	\$40,000.00	\$5,998,604.00
T Construction LL	С	⊠ Yes □ No	⊠ Yes □ No	\$6,098,171.00	\$100,000.00	\$40,000.00	\$6,238,171.00
Total Contracting Lin	nited	⊠ Yes □ No	⊠ Yes □ No	\$6,680,392.50	\$100,000.00	\$40,000.00	\$6,820,392.50
Harper Brothers Const	ruction	⊠ Yes □ No	⊠ Yes □ No	\$13,508,653.00	\$100,000.00	\$40,000.00	\$13,648,653.00

Tabulation of Offers Received Page 1 of 1

 $Bid\ Tabulation\ Report\ -\ TMB22900\ -\ FM2920\ Lift\ Station\ Consolidation\ Phase\ 1-30''\ Sanitary\ Sewer$

March Marc	al			ė	5,384,286.50	\$ 5,498,582.00	\$ 5,594,945.70	\$ 5,998,604.00	\$ 6,238,171.00	\$ 6,820,392.50	\$ 13,648,653.00	Subtotal \$
Column C	3			\$	40,000.00	\$ 45,000.00	\$ 40,000.00	\$ 40,000.00	\$ 40,000.00	\$ 40,000.00	\$ 40,000.00	\$
The section of the se	150/LF)	LF	100			\$200.00 \$ 20,000.00	\$150.00 \$ 15,000.00	\$150.00 \$ 15,000.00	\$150.00 \$ 15,000.00		\$150.00 \$ 15,000.00 \$	300.00 \$
	/SY)	SY	100	\$50.00 \$	5,000.00	\$50.00 \$ 5,000.00	\$50.00 \$ 5,000.00	\$50.00 \$ 5,000.00	\$50.00 \$ 5,000.00	\$50.00 \$ 5,000.00	\$50.00 \$ 5,000.00 \$	100.00 \$
The section of the following section of the section	ra Select Backfill (Min Unit Cost of \$50/CY)											100.00 \$
Company of the part of the p			100									
See												60.00 \$ 20.00 \$
Note 1988		CV	400	4.0.00	4.000.00	440.00 4	A40.00 A	440.00 4	440.00 4	440.00 4	440.00 4	
The stands of th					\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	
Company Comp		ALLOW	1	\$50,000.00 \$								50,000.00 \$
Complement processes Complement processes Complement processes Complement Complement processes C		ALLOW	1	\$10,000.00 \$	10,000.00	\$10,000.00 \$15,000.00	\$10,000.00 \$15,000.00	\$10,000.00 \$15,000.00	\$10,000.00 \$15,000.00	\$10,000.00 \$15,000.00	\$10,000.00 \$15,000.00 \$	10,000.00 \$
Composition		ALLOW	1	\$25,000.00 \$	25,000.00	\$25,000.00 \$15,000.00	\$25,000.00 \$15,000.00	\$25,000.00 \$15,000.00	\$25,000.00 \$15,000.00	\$25,000.00 \$15,000.00	\$25,000.00 \$15,000.00 \$	25,000.00 \$
Control Cont	nce for Harris County Flood Control District Permits,		1									
Control Control Septime Control Co		- ALLOW:	1	\$4E 000 00 \$	15 000 00	\$15,000,00	64F 000 00	¢4F 000 00	61F 000 00	\$4F,000,00	£4F 000 00	45 000 00 4
Second part of part												
Secure Security Securi Security Secu												\$
Composition flower Composi			1									5,000.00 \$ 10,000.00 \$
State Stat			1									
Transferrent general g	ve and Replace 30-Inch Storm Sewer Pipe, All Depths	LF	15	\$698.00 \$	10,470.00	\$260.00 \$ 3,900.00	\$270.00 \$ 4,050.00	\$800.00 \$ 12,000.00	\$352.00 \$ 5,280.00	\$350.00 \$ 5,250.00	\$356.00 \$ 5,340.00 \$	250.00 \$
Second process proce	ve and Replace 24-Inch Storm Sewer Pipe, All Depths	LF	10	\$460.00 \$	4,600.00	\$250.00 \$ 2,500.00	\$314.00 \$ 3,140.00	\$750.00 \$ 7,500.00	\$280.00 \$ 2,800.00	\$275.00 \$ 2,750.00	\$455.00 \$ 4,550.00 \$	200.00 \$
Control Cont	ve and Replace 18-Inch Storm Sewer Pipe, All Depths	LF	50	\$244.00 \$	12,200.00	\$200.00 \$ 10,000.00	\$157.00 \$ 7,850.00	\$400.00 \$ 20,000.00	\$160.00 \$ 8,000.00	\$250.00 \$ 12,500.00	\$242.00 \$ 12,100.00 \$	150.00 \$
Seed positional galantees presented galantees			450									175.00 \$
Cambo Camb		EA	1	\$26,275.00 \$	26,275.00	\$20,000.00 \$ 20,000.00	\$25,000.00 \$ 25,000.00	\$17,000.00 \$ 17,000.00	\$10,100.00 \$ 10,100.00	\$5,000.00 \$ 5,000.00	\$21,000.00 \$ 21,000.00 \$	15,000.00 \$
Control (Including barriers, barriers), berokes (person grown) Control (Including barriers), barriers), barriers (person grown) Control (Including barriers), barriers), barriers) Control (Including barriers), barriers) Control (In												
Control (Including Barriers, Barrier		EA	1		7,339.00							10,000.00 \$
Control (Louding Barriers, Earthreads, Deformation, Earthreads, Deforma		EA	7	\$7,000.00 \$	49,000.00	\$13,000.00 \$ 91,000.00	\$14,561.00 \$ 101,927.00	\$7,600.00 \$ 53,200.00	\$19,643.00 \$ 137,501.00	\$20,000.00 \$ 140,000.00	\$14,000.00 \$ 98,000.00 \$	5,000.00 \$
Control (Including Barriers, Sarricads, Deloval signs, surprivate (Control (Including Barriers, Sarricads, Sarricads, Sarricads, supprivate, surprivate, surprivat	le with Concrete Base, Including Composite Watertight , Extra Vertical Feet beyond 20 FT Depth	VF	70	\$2,022.00 \$	141,540.00	\$1,100.00 \$ 77,000.00	\$50.00 \$ 3,500.00	\$100.00 \$ 7,000.00	\$890.00 \$ 62,300.00	\$500.00 \$ 35,000.00	\$100.00 \$ 7,000.00 \$	1,000.00 \$
Control (Including Barriers, Barri		ΕA	y	\$57,310.00 \$	515,790.00	\$60,000.00 \$ 540,000.00	\$102,892.00 \$ 926,028.00	\$66,700.00 \$ 600,300.00	\$52,400.00 \$ 471,600.00	\$36,000.00 \$ 324,000.00	\$95,000.00 \$ 855,000.00 \$	46,000.00 \$
Control (Including Barriers, Barriardes, Detrour 1976, Tail Control (Including Barriardes, Detrour 1976, Tail Control (Including Barriers, Barriardes, Detrour 1976, Tail Control (Including Barriardes, Detrour 1976, Tail Control (Inclu	nole with Concrete Base, Including Composite Watertight											
Controllicululug Barrica, Barrica, Bertaur signs, Controllicululug Barrica, Barrica, Barrica, Barrica, Controllicululug Barrica, Barrica, Barrica, Controllicululug Barrica, Barrica, Barrica, Barrica, Controllicululug Barrica, Barrica, Barrica, Controllicululug Barrica, Barrica, Barrica, Controllicululug Barrica, Barrica, Barrica, Barrica, Barrica, Controllicululug Barrica, Barri	s, 0-20 FT Depth	EA	15	\$36,221.00 \$	543,315.00	\$37,000.00 \$ 555,000.00	\$74,966.00 \$ 1,124,490.00	\$40,000.00 \$ 600,000.00	\$43,700.00 \$ 655,500.00	\$20,000.00 \$ 300,000.00	\$48,000.00 \$ 720,000.00 \$	37,500.00 \$
Control (Including Barriers, Barricades, Detour signs, or coary Traffic Control (Including Barriers, Barricades, Detour signs, or coary Traffic Control (et) S 1 S14,370.00 S 14,370.00 S 14,370.00 S 10,000.00 S 10,000.00 S 10,000.00 S 50,000.00 S 50,0	ish and Install 5-Foot Diameter FRP Closed-Bottom Riser		100	Ç303.00 Ş	05,515.00	Ç300.00 Ç 03,000.00	Ψ1,025.30 Ψ 170,037.00	72,000.00	φ <u>τητ</u> -10100 φ 200μ0100	φηστοίου φ /περούουυ	42,002.00 \$ 170,232.00 \$	400.00 Ş
Control (Including Barriers, Barricades, Detour signs, Control (Including Barriers, Barriars, Superior (Including Barriers, Barriars, Superior (Including Barriers, Barriars, Barriers, Barriars, Barriers, Bar	ish and Install 42-Inch Steel Casing by Open-Cut	-										
Fife Control (Including Barriers, Barricades, Detour signs, Poprary Traffic Control, etc) S 1 \$14,370.0 \$14,370.0 \$14,370.0 \$10,000.0 \$20,000.0 \$20,000.0 \$50,000.0	nish and Install 30-Inch FRP Sanitary Sewer by Trenchless	LF					\$1,205,00 \$ 939,900.00					1,500.00 \$
Control (Including Barriers, Barricades, Detour signs, porary Traffic Control, etc) S 1 \$14,370.00 \$14,370.00 \$14,370.00 \$14,370.00 \$10,000.00 \$25,000.00 \$20,000.00 \$20,000.00 \$10,000.00		LF	2611	\$199.00 \$	519,589.00	\$350.00 \$ 913,850.00	\$287.50 \$ 750,662.50	\$325.00 \$ 848,575.00	\$330.00 \$ 861,630.00	\$450.00 \$ 1,174,950.00	\$1,495.00 \$ 3,903,445.00 \$	465.00 \$
ic Control (Including Barriers, Barricades, Detour signs, borrary Traffic Control (Including Barriers, Barricades, Detour Signs, Detour		LF	3691	\$195.00 \$	719,745.00	\$230.00 \$ 848,930.00	\$281.00 \$ 1,037,171.00	\$297.00 \$ 1,096,227.00	\$635.00 \$ 2,343,785.00	\$450.00 \$ 1,660,950.00	\$826.00 \$ 3,048,766.00 \$	400.00 \$
Control (Including Barriers, Barricades, Detouri signs, Variation Control, etc) LS 1 \$1,470.00 \$1,470.00 \$1,470.00 \$1,470.00 \$1,000.00 \$20,000.00 \$20,000.00 \$10,000.			1									40,000.00 \$
c Control (Including Barriers, Barricades, Detour signs, Forey Traffic Control, etc) LS 1 \$14,370.0 \$ 14,370.0 \$ 10,000.0 \$ 10,000.0 \$ 20,000.0 \$ 20,000.0 \$ 50,000.0			1 6302									200,000.00 \$
Control (Including Barriers, Barricades, Detour signs, oray Traffic Control, etc) LS 1 \$14,370.0 \$14,370.0 \$14,370.0 \$14,370.0 \$1,000.00 \$10,	ndwater and Surface Water Control for Open-Cut	AL	,									
Control (Including Barriers, Barricades, Detour signs, pray Traffic Control, etc) LS 1 \$14,370.00 \$ 14,370.00 \$ 10,000.00 \$ 20,000.00 \$ 20,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 15,000.00 \$ 15,000.00 \$ 500,			8.5			,						8,000.00 \$
c Control (Including Barriers, Barricades, Detour signs,	· · · · · · · · · · · · · · · · · · ·		1									50,000.00 \$
lization (Max 3% of Total Contract) LS 1 \$142,000.00 \$ 142,000.00 \$ 150,000.00 \$ 150,000.00 \$ 150,000.00 \$ 150,000.00 \$ 204,000.00 \$ 320,000.00 \$ 320,000.00 \$ 204,000.00 \$ 300,000.00 \$ 300,000.00 \$ 175,000.00 \$ 17		16	1	¢14.370.00 ¢	14 270 00	\$10,000,00 \$ 10,000,00	¢20,000,00, ¢ 20,000,00	\$10,000,00 \$ 10,000,00	\$15,000,00 \$ 15,000,00	\$500,000,00, \$ 500,000,00	\$35,000,00 \$ 35,000,00 \$	F0 000 00 . ¢
	ilization (Max 3% of Total Contract)	LS	1	\$142,000.00 \$	142,000.00	\$150,000.00 \$ 150,000.00	\$150,000.00 \$ 150,000.00	\$20,000.00 \$ 20,000.00	\$320,000.00 \$ 320,000.00	\$204,000.00 \$ 204,000.00	\$300,000.00 \$ 300,000.00 \$	175,000.00 \$

CARLOS E. QUINTERO

94948

CENSED: MESS/ONAL ENGISE/O5/2024